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e Very good - you missed
40° Iabelling the two angles

shown in red - these
\( leu_y_ are useful for part(b)

"Plane heading" would (2) 273

; be better here
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Good diagram with
clear labelling

Must use arrows to
show vector direction
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60° angle is rather large too
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5 5 becange = qo - 1,0 |This is actually 40° because it is an

L alternate angle - see Unit 5 page 53
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OK but usual notation for vector

magnitudes would be |p], |w|, |v|.
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- 2 o should be 100° but will
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L6400 -112000x 7 oops, cos 120° = -1/2 so should have
496400 + 11200 x 1/2 = 552400 and

=  LlpOlkoO hence |v| = 743.236...
Good work - right method,

c. - l o b o g 2 ] d.p. lustlostamark for one more
v #LOILL}(’QS‘Q’S =2 P slip here. You might have

[Keep full accuracy until end of calculations | noticed that your |v| was less
Y b L ] than |p| which cannot be
We fl i © Wg"tf) he Sine rule V correct for this triangle
\V4 W Good - still following
- o = T through with your
Sin 120 S © figure of 120°
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- —Zes. 43 \Thls is where you
need to use the full
calculator accuracy
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P= Sin (0‘“"#—3‘”‘) = 5“7]"1 ,L:’ f? 7‘3 ‘not the rounded value |
Vector notation: v in print or v in handwriting Correct if ugmg your

- value of 120° but true
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Well done Pascale. You were asked for magnitude (c) 7/10
to 1 d.p. with units and bearing to nearest degree so
expected conclusion (with correct answers) is that

v has magnitude 718.2 km/h and bearing 134°.
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